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oABSTRACT 0o

The aim of this article is studying the equations
ax? + 2bxy + 3ay? = +1 (I)
x? = Ay? =3 (II)

we proved that if equation (II) is unsolvable then the equation (I) is
unsolvable, also we proved necessary and sufficient condition such that the equation
() is solvable when the equation (II) is solvable, and we proved necessary and
sufficient condition such that the equation (II) is solvable when the equation (1) is
solvable. finally, we proved that if A is prime number then the equation (I) is
solvable iff the equation (I1) is solvable.
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